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QUESTION 1

Which two statements is true regarding the next hop attribute? (Choose two.)
A. it is not changed when sent across EBGP sessions

B. it is changed to self for IBGP routes learned from EBGP

C. itis not changed for IGBP routes learned from EBGP

D. it is Changed by default when sent across EBGP sessions

Correct Answer: CD

QUESTION 2

Click the Exhibit button.
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userfirouter> show route advertising-protocel bgp 10.254.32.2

inet.0: 1400327 destinationsa, 140003Z7 routes (1351350 active,
0 holddown, 1 hidden)

Pref-x Wexthop MED Lelpref L3 path
b B el e e Self 81 T
[=dit]

userfrouterf show policy—optionsz policy-statement export—-to—as8l

term 1 {
trom {

route—filer 1.0.0.0/8 longer;

then accept
h
term 2 |

then reject;

[edit]
userfrouterf show policy-options policy-statement r=ject—routes
term 1 {
from |
route—filter 1.0.0.0/8 exact;

then reject;

[edit]
userfrouterf show protocol kgp
export reject-routes;
group ebap {
export export—to—asil;
peer—as 81;
neighbor 10.254.32.2 {
family inet |

unicast;

You are asked to advertise the 1.0.0.0/8 and 1.5.5.5/32 routes to your 10.254.32.2 BGP peer.

Referring to the exhibit, which configuration change would satisfy this requirement?
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A. Remove the export-to- as81 policy.

B. Change the export-to- as81 policy to or longer.
C. Remove the reject-routes policy.

D. Change the reject-routes policy to longer.

Correct Answer: B

QUESTION 3

Which two statements are true about OSPFv3? (Choose two.)

A. OSPFv3 packets are sent using local subnet addressing.

B. OSPFv3 packets are sent using link local addressing.

C. The authentication mechanisms in OSPFv3 are the same mechanisms used in OSPFv2.
D. The authentication mechanisms from OSPFv2 are not present in OSPFv3.

Correct Answer: BD

QUESTION 4

Which statement is correct about MSTP?

A. MSTP enables mapping multiple independent spanning-tree instances onto one physical topology.
B. MSTP enables dynamic discovery of Layer 2 neighbors.

C. MSTP dynamically manages VLAN registration in a LAN.

D. MSTP uses stacked VLAN tags to extend a Layer 2 Ethernet connection between multiple sites.

Correct Answer: A

QUESTION 5

Click the Exhibit button.
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userflawitchl> show spanning-tr=e mstp configuration
MSTP information

Context identifier : 0O

Region name : MSTP-TEST

Revision = 1

Configuration digest : Oxd41dTceffZ7dfBac51350507eelalafl

MSTI Member VLANS
1] g-9, 1i-1s9, 21-29, 31-345, 41-49, 51-4004

1 10, 20
2 30, 40
i: 18 20

userfiswitchiZ>» show spanning-trze m=stp configuration
MSTP information

Context identifier : O

Region name : MSTP-TEST

Eevizgion : 1

Configuration digeat : Ox41d7ceffZ27dfRac51350%07eelalafz

MSTI Member VLANS

g 0-8, 13118, 21-29; 31-39, 471-49, 514004
A 10, 20

2 30, 40

3. a0

uzserfawitchi> show spanning-trze m=stp configuration
MSTP information

Context identifier : O

Fegion name : MS3STP-TEST

Revision : 1

Configuration digeat : 0Ox4ld7ceff27dfBac51350907=elalaf2

MSTI Member VLAMNS

0 =8, 13134, 21-39, 41448, 514004
1 10, 20, 30

2 40

i 8 a0

You have three switches, each with a trunk connection allowing all VLANS to the switches. CIST will converge, however
MSTP will not.

Referring to the exhibit, which statement is correct?
A. Switchl is the CIST root bridge.

B. Switch2 is the MSTI root bridge.
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C. Switch3\\'s contest identifier must be changed.
D. Switch3\\'s configuration digest is different than for switch1l and for switch2.

Correct Answer: D
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